Equalities (C)

6+e=7+7

5+12=12+H

0+11=8+12

12+8=0+10

1+e=1+1

&+11=10+5

11+2=%+10

x+12=10+8

m+5=7+8

44+3=0+6

Find the value of each unknown.

345=4+4+m

5+12=0+5

8+H=9+11

7+12=12+0

7+11=0+49

11+[]=7+6

10+90=11+11

H+9=3+7

8+6=0+4

3+aa=1+3
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Equalities (C) Answers

6+e=7+7
=28

5+12=12+H
=5

0+11=8+12
0=9

124+8=0+ 10
O =10

1+e=1+1
¢=1

&+11=104+5
=4

11+2=%+10
% =3

x+12=10+8
% =6

m+5=7+8
m =10

4+3=0+6
N =

Find the value of each unknown.

3+45=4+m
m=4
5412=9+5
V=12
8+H=9+11
H=12
7+12=12+0
N=7
7+11=0+49
N=9
11+[]=7+6
=2
10+90=11+11
Q=12
H+9=3+7
H=1
8+6=0+4

¢ =10
3+aa=1+3
=1

Math-Drills.Com




